Preconditioned SSOR Iterative Method For Linear System With *M*-Matrices

Aijuan Li *

Abstract— A preconditioned SSOR iterative method with a multi-parameters preconditioner $I + \widetilde{S}_{\alpha}$ is proposed. Some convergence and comparison results for $\alpha_i \in [0, 1]$ are given when the coefficient matrix of linear system A is a nonsingular M-matrix. Numerical example shows that our methods are superior to the basic SSOR iterative method.

Keywords: Preconditioner, SSOR iterative method, M-matrix

1 Introduction

$$Ax = b \tag{1}$$

where $A \in \mathbb{R}^{n \times n}$, $b \in \mathbb{R}^n$ are given and $x \in \mathbb{R}^n$ is unknown.

For simplicity, we let A = I - L - U, where I is the identity matrix, L and U are strictly lower and strictly upper triangular matrices, respectively.

Assume that
$$A = M - N$$
, where

$$M = \frac{(I - \omega L)(I - \omega U)}{\omega (2 - \omega)} \tag{2}$$

$$N = \frac{[(1-\omega)I + \omega L][(1-\omega)I + \omega U]}{\omega(2-\omega)}$$
(3)

 ω is real parameter with $\omega \neq 0$ and $\omega \neq 2$.

Then the iterative matrix of the SSOR (Symmetric SOR) iterative method [1] for solving the linear system (1) is

$$S_{\omega} = (I - \omega U)^{-1} [(1 - \omega)I + \omega L](I - \omega L)^{-1} [(1 - \omega)I + \omega U] = (I - \omega U)^{-1} (I - \omega L)^{-1} [(1 - \omega)I + \omega L] [(1 - \omega)I + \omega U] = [(I - \omega L)(I - \omega U)]^{-1} [(1 - \omega)I + \omega L] [(1 - \omega)I + \omega U]$$
(4)

When $\omega = 1$, SSOR iterative method becomes Symmetric Gauss-seidel method.

Now, we consider a preconditioned system of (1)

$$PAx = Pb$$

where P is a nonsingular matrix.

In [2]-[7], some different preconditioners have been proposed by several authors.

In this paper, we propose a multi-parameters preconditioned SSOR iterative method with a preconditioner as following:

$$\widetilde{P} = I + \widetilde{S}_{\alpha}$$

$$\tilde{S}_{\alpha} = \begin{pmatrix} 0 & 0 & 0 & \cdots & 0 \\ -\alpha_2 a_{21} & 0 & 0 & \ddots & \vdots \\ 0 & -\alpha_3 a_{32} & \ddots & \ddots & 0 \\ \vdots & \ddots & \ddots & \ddots & 0 \\ 0 & \cdots & 0 & -\alpha_n a_{nn-1} & 0 \end{pmatrix}$$

Now, we consider the preconditioned linear system

$$\widetilde{A}x = \widetilde{b} \tag{5}$$

where $\widetilde{A} = (I + \widetilde{S}_{\alpha})A$ and $\widetilde{b} = (I + \widetilde{S}_{\alpha})b$ We express the coefficient matrix \widetilde{A} of (5) as

$$\widetilde{A} = \widetilde{D} - \widetilde{L} - \widetilde{U}$$

where \widetilde{D} is the diagonal matrix, \widetilde{L} and \widetilde{U} are strictly lower and strictly upper triangular matrices, respectively.

Then the corresponding iterative matrix of the above preconditioned SSOR method is

$$\widetilde{S}_{\omega} = (\widetilde{D} - \omega \widetilde{U})^{-1} [(1 - \omega)\widetilde{D} + \omega \widetilde{L}] (\widetilde{D} - \omega \widetilde{L})^{-1}
[(1 - \omega)\widetilde{D} + \omega \widetilde{U}]
= (I - \omega \widetilde{D}^{-1} \widetilde{U})^{-1} [(1 - \omega)I + \omega \widetilde{D}^{-1} \widetilde{L}] (I
- \omega \widetilde{D}^{-1} \widetilde{L})^{-1} [(1 - \omega)I + \omega \widetilde{D}^{-1} \widetilde{U}]
= (I - \omega \widetilde{D}^{-1} \widetilde{U})^{-1} (I - \omega \widetilde{D}^{-1} \widetilde{L})^{-1} [(1 - \omega)I
+ \omega \widetilde{D}^{-1} \widetilde{L}] [(1 - \omega)I + \omega \widetilde{D}^{-1} \widetilde{U}]$$
(6)

Assume that

$$\widetilde{M} = \frac{(\widetilde{D} - \omega \widetilde{L})\widetilde{D}^{-1}(\widetilde{D} - \omega \widetilde{U})}{\omega(2 - \omega)}$$
(7)

$$\widetilde{N} = \frac{[(1-\omega)\widetilde{D} + \omega\widetilde{L}]\widetilde{D}^{-1}[(1-\omega)\widetilde{D} + \omega\widetilde{U}]}{\omega(2-\omega)}$$
(8)

ISBN: 978-988-17012-0-6 ISSN: 2078-0958 (Print); ISSN: 2078-0966 (Online)

^{*}Shandong University of Technology, School of Science, Zi'bo 255049, People's Republic of China. Email:juanzi612@163.com

 ω is real parameter with $\omega \neq 0$ and $\omega \neq 2$.

The remainder of the present paper is organized as follows. Next section is the preliminaries. The convergence of the proposed methods and comparison theorems are studied in section 3. In section 4, we present numerical example to confirm our theoretical analysis.

2 Preliminaries

In this paper, $\rho(\cdot)$ denotes the spectral radius of a matrix.

Definition 2.1([1]). A matrix A is a L-matrix if $a_{ii} \ge 0$, $i = 1, 2, \dots, n$ and $a_{ij} \le 0$ for all $i, j = 1, 2, \dots, n, i \ne j$. A nonsingular L-matrix A is a nonsingular M-matrix if $A^{-1} \ge 0$.

Lemma 2.1([8]). Let A be a nonnegative $n \times n$ nonzero matrix. Then

(a) $\rho(A)$, the spectral radius of A, is an eigenvalue;

(b) A has a nonnegative eigenvector corresponding to $\rho(A)$;

(c) $\rho(A)$ is a simple eigenvalue of A;

(d) $\rho(A)$ increases when any entry of A increases.

Definition 2.2([8]). For $n \times n$ real matrices A, M and N, A = M - N is a regular splitting of the matrix A if M is nonsingular with $M^{-1} \ge 0$ and $N \ge 0$. Similarly, A = M - N is a weak regular splitting of the matrix A if M is nonsingular with $M^{-1} \ge 0$ and $M^{-1}N \ge 0$.

Theorem 2.1([9]). Let $A^{-1} \ge 0$ and $A = M_1 - N_1 = M_2 - N_2$ be weak regular splittings, In either of the cases (1) $N_1 \le N_2$ (2) $M_1^{-1} \ge M_2^{-1}, N_1 \ge 0$ (3) $M_1^{-1} \ge M_2^{-1}, N_2 \ge 0$ the inequality $\rho(M_1^{-1}N_1) \le \rho(M_2^{-1}N_2)$ holds.

Lemma 2.2([2]). Let A be a nonnegative matrix. Then (1) If $\alpha x \leq Ax$ for some nonnegative vector $x, x \neq 0$, then $\alpha \leq \rho(A)$.

(2) If $Ax \leq \beta x$ for some positive vector x, then $\rho(A) \leq \beta$. Moreover, if A is irreducible and if $0 \neq \alpha x \leq Ax \leq \beta x$, $\alpha x \neq Ax, Ax \neq \beta x$ for some nonnegative vector x, then

$$\alpha < \rho(A) < \beta$$

and x is a positive vector.

Theorem 2.2([8]). Let A = M - N be a weak regular splitting of the matrix A. Then, A is nonsingular with $A^{-1} \ge 0$ if and only if $\rho(M^{-1}N) < 1$.

3 Comparison theorems

Lemma 3.1 Let A and \widetilde{A} be the coefficient matrices of the linear system (1) and (5), respectively. Let A is a nonsingular M-matrix, Assume that A = M - N and

 $\widetilde{A} = \widetilde{M} - \widetilde{N}$, where M, N, \widetilde{M} and \widetilde{N} are defined by (2), (3), (7) and (8), respectively. If $0 < \omega \leq 1$ and $0 \leq \alpha_i \leq 1 (i = 2, 3, \dots, n)$, then A = M - N and $\widetilde{A} = \widetilde{M} - \widetilde{N}$ are regular splittings of A and \widetilde{A} , respectively.

Proof. Since A is a nonsingular M- matrix and $0 < \omega \leq 1$,

$$M^{-1} = \omega(2-\omega)[(I-\omega L)(I-\omega U)]^{-1}$$

= $\omega(2-\omega)(I-\omega U)^{-1}(I-\omega L)^{-1}$
= $\omega(2-\omega)[I+\omega U+(\omega U)^2+\cdots][I+\omega L+(\omega L)^2+\cdots]$
 ≥ 0
$$N = \frac{[(1-\omega)I+\omega L][(1-\omega)I+\omega U]}{\omega(2-\omega)} \geq 0$$

We know that A = M - N is regular splitting of A by definition 2.2.

$$\begin{split} \widetilde{M}^{-1} &= \omega(2-\omega) [(\widetilde{D}-\omega\widetilde{L})\widetilde{D}^{-1}(\widetilde{D}-\omega\widetilde{U})]^{-1} \\ &= \omega(2-\omega)(\widetilde{D}-\omega\widetilde{U})^{-1}\widetilde{D}(\widetilde{D}-\omega\widetilde{L})^{-1} \\ &= \omega(2-\omega)(I-\omega\widetilde{D}^{-1}\widetilde{U})^{-1}(I-\omega\widetilde{D}^{-1}\widetilde{L})^{-1}\widetilde{D}^{-1} \end{split}$$

We know that the elements of $\tilde{D} = (\tilde{d}_{ij})$ are $\tilde{d}_{ii} = 1 - \alpha_i a_{ii-1} a_{i-1i}$ when $2 \le i \le n$ and $\tilde{d}_{11} = 1$.

Since A is a nonsingular M- matrix, from [10], we know $1 - a_{ii-1}a_{i-1i} > 0$. If $0 \le \alpha_i \le 1$, Then $\tilde{d}_{ii} = 1 - \alpha_i a_{ii-1}a_{i-1i} > 0$. Thus, $\tilde{D}^{-1} \ge 0$, We have

$$\widetilde{U} = (\widetilde{u}_{ij}) = \begin{cases} 0, & \text{if } i \ge j, \\ -(a_{ij} - \alpha_i a_{ii-1} a_{i-1i}), & \text{if } i < j, i \ne 1. \\ -a_{1j}, & \text{if } i = 1 \end{cases}$$

Since A is a nonsingular M- matrix, $\widetilde{U} \ge 0$. Similarly,

$$\widetilde{L} = (\widetilde{l}_{ij}) = \begin{cases} 0, & \text{if } i \leq j, \\ -(a_{ij} - \alpha_i a_{ii-1} a_{i-1i}), & \text{if } i > j. \end{cases}$$

Thus, $\widetilde{L} \ge 0$.

When $0 < \omega \leq 1$, we have

$$\begin{split} \widetilde{M}^{-1} &= \omega(2-\omega)(I-\omega\widetilde{D}^{-1}\widetilde{U})^{-1}(I-\omega\widetilde{D}^{-1}\widetilde{L})^{-1}\widetilde{D}^{-1} \\ &= \omega(2-\omega)[I+\omega\widetilde{D}^{-1}\widetilde{U}+(\omega\widetilde{D}^{-1}\widetilde{U})^2+\cdots] \\ &[I+\omega\widetilde{D}^{-1}\widetilde{L}+(\omega\widetilde{D}^{-1}\widetilde{L})^2+\cdots] \\ &\geq 0 \\ \widetilde{N} &= \frac{[(1-\omega)\widetilde{D}+\omega\widetilde{L}]\widetilde{D}^{-1}[(1-\omega)\widetilde{D}+\omega\widetilde{U}]}{\omega(2-\omega)} \geq 0 \end{split}$$

Therefore, $\widetilde{A} = \widetilde{M} - \widetilde{N}$ is regular splittings of \widetilde{A} . This completes the proof of lemma 3.1.

Theorem 3.1 Let A be a nonsingular M-matrix, S_{ω} and \widetilde{S}_{ω} are be defined by (4) and (6), respectively. Assume that $0 < \omega \leq 1$ and $0 \leq \alpha_i \leq 1, i = 2, 3, \dots, n$, then

$$\rho(\widetilde{S}_{\omega}) \le \rho(S_{\omega}) < 1$$

Proof. For $\widetilde{A} = (I + \widetilde{S}_{\alpha})A = \widetilde{M} - \widetilde{N}$, we get $A = (I + \widetilde{S}_{\alpha})^{-1}\widetilde{M} - (I + \widetilde{S}_{\alpha})^{-1}\widetilde{N}$. Let $\widetilde{E} = (I + \widetilde{S}_{\alpha})^{-1}\widetilde{M}$, $\widetilde{F} = (I + \widetilde{S}_{\alpha})^{-1}\widetilde{N}$, we note that $\widetilde{E}^{-1}\widetilde{F} = \widetilde{M}^{-1}\widetilde{N}$. Since $I + \widetilde{S}_{\alpha} \ge I$, $\widetilde{d}_{ii} = 1 - \alpha_i a_{ii-1} a_{i-1i} \le 1$ for i = 2, $3, \dots, n$ and $\widetilde{d}_{11} = 1$. We know $-(a_{ij} - \alpha_i a_{ii-1} a_{i-1i}) \ge -a_{ij}$, we obtain $\widetilde{D}^{-1} \ge I$, $\widetilde{U} \ge U$, $\widetilde{L} \ge L$ Therefore

$$E^{-1} = M^{-1}(I + S_{\alpha})$$

$$\geq \omega(2 - \omega)[I + \omega \widetilde{D}^{-1}\widetilde{U} + (\omega \widetilde{D}^{-1}\widetilde{U})^{2} + \cdots]$$

$$[I + \omega \widetilde{D}^{-1}\widetilde{L} + (\omega \widetilde{D}^{-1}\widetilde{L})^{2} + \cdots]$$

$$\geq \omega(2 - \omega)[I + \omega U + (\omega U)^{2} + \cdots]$$

$$[I + \omega L + (\omega L)^{2} + \cdots]$$

$$= M^{-1}$$

$$\geq 0$$

Since $\widetilde{E}^{-1}\widetilde{F} = \widetilde{M}^{-1}\widetilde{N} \ge 0$, it follows from definition 2.2 that $A = \widetilde{E} - \widetilde{F}$ is a weak regular splitting of A.

Thus $A = M - N = \tilde{E} - \tilde{F}$ is weak regular splitting of Aand $N \ge 0$. Since A is a nonsingular M-matrix, $A^{-1} \ge 0$, it follows Theorem 2.1, we have $\rho(\tilde{E}^{-1}\tilde{F}) \le \rho(M^{-1}N)$. From lemma 3.1, A = M - N is regular splitting of A. Thus, A = M - N is weak regular splitting of A. Since A is a nonsingular M-matrix, we know $\rho(S_{\omega}) = \rho(M^{-1}N) < 1$ by Theorem 2.2. That is

 $\rho(\widetilde{S}_{\omega}) < \rho(S_{\omega}) < 1$

This completes the proof of Theorem 3.1.

In Theorem 3.1, If we take the parameter $\omega=1,$ then we obtain the comparison theorem of Symmetric Gauss-seidel iterative method .

4 Numerical example

Example The coefficient matrix A of (1) is given by

$$A = \begin{pmatrix} 1 & -0.2 & -0.3 & -0.1 & -0.2 \\ -0.1 & 1 & -0.1 & -0.3 & -0.1 \\ -0.2 & -0.1 & 1 & -0.1 & -0.2 \\ -0.2 & -0.1 & -0.1 & 1 & -0.3 \\ -0.1 & -0.2 & -0.2 & -0.1 & 1 \end{pmatrix}$$

We obtain the spectral radius of SSOR iterative matrix under the different preconditioners with real parameters ω and $\alpha_i (i = 2, 3, \dots, n)$. If we denote the spectral radius of the preconditioned SSOR iterative matrix by $\rho(\widetilde{S}_{\omega 1})$ when $\alpha_2 = 0.1$, $\alpha_3 = 0.2$, $\alpha_4 = 0.3$, $\alpha_5 = 0.5$, we denote the spectral radius of the preconditioned SSOR iterative matrix by $\rho(\widetilde{S}_{\omega 2})$ when $\alpha_2 = 0.2$, $\alpha_3 = 0.3$, $\alpha_4 = 0.4$, $\alpha_5 = 0.6$, we denote the spectral radius of the preconditioned SSOR iterative matrix by $\rho(\widetilde{S}_{\omega 3})$ when $\alpha_2 = 0.5$, $\alpha_3 = 0.8$, $\alpha_4 = 0.5$, $\alpha_5 = 1$, we denote the spectral radius of the preconditioned SSOR iterative matrix by $\rho(\widetilde{S}_{\omega 4})$ when $\alpha_2 = 1$, $\alpha_3 = 1$, $\alpha_4 = 1$, $\alpha_5 = 1$, then we obtain the table 1.

Table 1 The comparison of the spectral radius ofSSOR iterative matrix

ω	$\rho(S_{\omega})$	$\rho(\widetilde{S}_{\omega 1})$	$\rho(\widetilde{S}_{\omega 2})$	$ \rho(\widetilde{S}_{\omega 3}) $	$\rho(\widetilde{S}_{\omega 4})$
$\omega = 0.10$	0.9300	0.9285	0.9279	0.9258	0.9240
$\omega=0.20$	0.8582	0.8553	0.8541	0.8501	0.8464
$\omega=0.30$	0.7850	0.7808	0.7791	0.7732	0.7680
$\omega=0.40$	0.7111	0.7056	0.7035	0.6960	0.6893
$\omega=0.50$	0.6373	0.6309	0.6283	0.6194	0.6115
$\omega=0.60$	0.5650	0.5577	0.5548	0.5448	0.5358
$\omega=0.70$	0.4959	0.4881	0.4849	0.4740	0.4641
$\omega=0.80$	0.4327	0.4246	0.4212	0.4097	0.3992
$\omega=0.90$	0.3791	0.3710	0.3676	0.3559	0.3449
$\omega = 1$	0.3405	0.3328	0.3295	0.3178	0.3066

From Table 1, we can see that the preconditioned SSOR method proposed in Section 1 is superior to the basic SSOR iterative method. Especially, when the parameter $\alpha_i (i = 2, 3, \dots, n)$ are equal to 1, the spectral radius of SSOR iterative matrix is the smallest when $0 < \omega \leq 1$.

References

- D.M.Young, Iterative Solution of Large Linear Systems, New York, Academic, 1971.
- [2] A.D.Gunawardena, S.K.Jain, L.Snyder, "Modified iterative methods for consistent linear systems," *Linear Algebra Appl.*, V154-156, pp. 123-143, 1991.
- [3] D.J.Evans, M.M.Martins, M.E.Trigo, "The AOR iterative method for new preconditioned linear systems," *J.Comput.Appl.Math.*, V132, pp. 461-466, 2001.
- [4] H.Kotakemori, K.Harada, M.Morimoto, H.Niki," A comparison theorem for the iterative method with the preconditioner($I + S_{max}$)," J.Comput.Appl.Math., V145, pp. 373-378, 2002.
- [5] A.Hadjidioms, D.Noutsos, M.Tzoumas, "More on modifications and improvements of classical iterative schemes for M-matrices," *Linear Algebra Appl.*, V364, pp. 253-279, 2003.
- [6] H.Niki, K.Harada, M.Morimoto, M.Sakakihara, "The survey of preconditioners used for accelerating the rate of convergence in the Gauss-Seidel method," J.Comput.Appl.Math., V164-165, pp. 587-600, 2004.
- [7] L.y.Sun, "A comparison theorem for the SOR iterative method," J. Comput. Appl. Math., V181, pp. 336-341, 2005.
- [8] R.S.Varga, Matrix Iterative Analysis, Prentice Hall, Inc.1962.

Proceedings of the World Congress on Engineering and Computer Science 2010 Vol I WCECS 2010, October 20-22, 2010, San Francisco, USA

- [9] R.Nabben, "A note on comparison theorems for splitting and multisplittings of Hermitian positive definite matrices," *Linear Algebra Appl.*, V233, pp. 67-80, 1996.
- [10] A.Berman, R.J.Plemmons, Nonnegative Matrices in the Mathematical Sciences, SIAM, Philadelphia, PA, 1994.